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SN HE - SI(E) - NRAY - BES e =2
729,469 731,661 A2,192
= 183,715
= 49,429
= 526,325
THESEH 729,469 731,661 A2,192
= 153,715
< 49,429
= 526,325
S0JISZe(AZ200I23SEEH) 729,469 731,661 A2,192
= 183,715
L= 49,429
i 526,325
oO9=2=0 8320 s AA 216,444 200,636 15,808
= 183,715
= 49,429
= 13,300
o124l 23,374 20,136 3,238
= 18,699
= 4,675
10 JIZAH22AHSES 23,374 20,136 3,238
O2dz30&elA 218 (1Y) 23,374,000 23,374
= 18,699
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telr 23022 (A=20IISSLSAH) oo dA
= % o|(= = ik MEE =
= 4,675
201 LBt 3| 3,260 3,260 0
= 3,260
01 AtS2teldl 3,260 3,260 0
OANRES 7Y = 2,000
& 2,000
Ooza0 doRAR =¥ 1,260
& 1,260
202 (4| 9,820 8,540 1,280
= 1,664
& 8,156
01 =LHAHI 9,820 8,540 1,280
OAz=HYRF=A 7,740
& 7,740
O2d=2=20 2elAt ol 2,080
= 1,664
= 416
307 2IZ2tol 166,690 155,000 11,690
= 133,352
= 33,338
01z 166,690 155,000 1,690
ooz & I2HI(82 20) 166,690, 000& 166,690
= 133,352
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B | ZMBEE
S =220 I IS (A=22HIISEESA) (St &)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
T 33,338
802 BrEtZ2DIEH 13,300 13,300 0
03 UEH2S 13,300 13,300 0
onedtda s 13,300,000 13,300
o220 YRFZE AlIZHEYI 513,025 531,025 A 18,000
308 KXIEHSOIE 513,025 531,025 A 18,000
05 ANXSHHZAREESE= 513,025 531,025 A 18,000
Oz HAXHHESEZ2 513,025,000 513,025




